Y Q] A= 10,12, 14, x 2]

1.

® 12 B 14 @ 16 B 18

D 10



o] 50l Birol 10 W, a + 2,b +

5709 W= a,b,c,d,e ] §

2.

ShH?

Fed = v

)

2,c+2,d+2,e+29

© 10

<A

ld

n

O

(4

o~

il

L

Eo



o2 1H3 Zo] L/ACB = «CDB =
90° & o x o}y ] gl =AHE Hr=

A AAS A2

3\/’ 3«/’ 5v6 V6
@T’T
5\/' 7«/_ 3v5 345
@T’T
5\/' 3\/7

T g



2317 Apole] A2 S



Feizt.

NolA x of ghe 75

A

o
ofr

NI

]

e




6. sinA= % A ], cos AtanA 2] ZF2 F5hoizt.

15 7 9
O ©@- O @ 0O



7. g wololA g7l gro] Re4dl AL BE Boke
[17]
B
@ sin0° © cos0° © tan4b°
® cos90° @ tan60° ® sin90°

YR
=



A, B, C, D, E thAl Htof| tjf
olct

oo
= e
=
FH

ot

8.

68
1.9

70
14

65

1.3

7

67

-

KH

ﬂo

H

@ B B C @ D B E

D A



® 30vV2cm? @ 31V2cm? ® 32vV2cm?
@ 33V2cm? 3B 342 cm?



10. o "4 £C =90° 7} H7] 913 x 9] ghe 5t
7

&) @

| Ut

7
®1 @5 ®

Wl N




11.

ohS 133 ZHo] AABC 2] EA1H A o)A
Bl Y7l 4-419] -5 H 2 5kal, AB =
15, AC =20 € o, AH 9] Z°o]E 75}
2t

Qe
»




i

12. Thg 123} 2o] MY ABC ¢ A WS 27 A 208 Sl
HE10] Wol&E §,, S, S3BF kAL S = 10mem? , So = 15mcm? &
o, S5 9] gt2 otof=t.

ol

A
Y

Ss



13.

D 943

@ 11Vv3 O® 12v3 @ 13vV3 G 1443



14.

@ 54rcm?®

@ 1627 cm?

@ 8lmcm?®

® 3247cm?




15. o5& 13lA BC
o, &0 o ¥AF

=8¢
o4

® 2cm @ 4cm

@ 8cm ® 10cm

cm AB =60° &
ol=

® 6cm




olJ
bSS
olJ
ofig
Ko
olp

oy

o

2
V5

@ sinA - cosA

@ cos A

-2

@ sinA

2
5

@ tanA =2



17.

o& & A2 gl

@ sin45° = cos 45°
@ sin40° > cos 20°

3 sin75° > cos 75°

S

—
R

Az &7

Mo
Py
filo
H
4
K
!
2

@ sin 85° > sin 25°

@ cos10° < cos 80°



18. o= 199 AABC oA A7 5 B g O] 3L-& Fotoet.

@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724




19.

ohg 197} 2o] vhhE aafsl e} ,
o) Ao1] Ael ko1 m ol vhell ) g o o
S Zd7)E vt 2 2] 2717 --21m--

15° o] 9Tk, Sth] ko] ?

Fnl

D tanl15°m @ 21tan15°m ® sin15°m
@ 921sin15°m 3 cosl1l5°m



20. ©he 1ol 4AG Wol S A T
AR
@ 24cm? @ 24+2cm?
® 24+/3cm? @ 48cm?

3 48 V2¢m?2



